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Example Replicate Block. An example of a replicate block with randomly assigned
light and heavy browse treatment and control paddocks. Half of each paddock was
randomly assigned to be interseeded. There were five replicate blocks.

Replicate Block Arrangement. Replicate blocks were arranged along a ridge of variable aspect such
that each block faced a single direction with paddocks oriented from top to bottom of the slope.
Heavy browse treatments (2) were twice as long as light browse treatments (1). Control and browse
treatment paddocks were divided in half and assigned seeding (S) or no seeding (N) (Google Maps

2012).



